
Subject: Re: Very basic IDL vector question
Posted by kubota on Tue, 03 May 2016 13:22:21 GMT
View Forum Message <> Reply to Message

My intention is to maintain xc, a 10 element array (0 to 9), with the 10 values of 0,1,2,..9.
Then by calling testDouble, fc becomes a 10 element array (0 to 9) with the 10 values of 0,2,4,6, ..
18 as before.
Now a call is made to testTotal using the same xc values as above. What is the resulting (new)
state of fc? Does fc change from being a 10-element array to a scalar (45)? I presume the xc
values will not be affected by these two calls.
With my thanks
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